BHEHF AYVSA | ouT N GROSS  HDCP NET

B B BEY BHE 37| 37 14, 8.0 66.0
M il BAFX 43! 36 7191 10.0 69.0
3L | —=E 36| 34 700 1.0/ 69.0
A RE B= 38| 38 76| 7.0 69.0
biir |WEE E= 35| 39 74/ 5.0 69.0
ofL EAR EHE 40| 42 82 12.0| 70.0
I B OIEE 38| 44 82/ 10.0 72.0
86 Th# FA 39| 37 76/ 3.0/ 73.0/
oL |l FEIr 39| 39 18| 5.0 /3.0
10461 kLl SR 35| 36 711, -2.0 73.0
1L (MR & 43| 43 86/ 12.0 74.0
12650 | E EE 39! 43 821 8.0/ 74.0
1347 | K¥y #H 36| 44 80| 6.0/ 74.0
1451 SH {Ez 43| 42 85 10.0 /5.0
1561 [IUA & 42| 45 87 12.0/ 75.0



A% BYIRA ouT IN GROSS  HDCP NET

= B PE S3t 52/ 50, 1102 36.0| 66.0

E@’“‘ 9K E 47| 41 88/ 20.0 68.0
L fEZ]R  FEM 49| 43 92| 22.0/ 70.0
Mo R B 44 39 83 13.0/ 70.0
iz BAR & 47| 43 00| 19.0 71.0
6fhl Hil M2 48| 48 96/ 25.0 71.0
7451 b {25 41| 43 84/ 13.0] 71.0
8L T H Bk 44| 49 03] 22.0 71.0
O FH#E X 47| 41 88/ 16.0! 72.0
10452 |81 M Z 52| 47 99 27.0, 72.0
1142 X B= 46 50 960 24.0| 72.0
124L K 46| 42 88 15.0 73.0
1362 AE FE 52/ 51 1103 30.0) 73.0
1461 R $h 48| 45 03] 19.0 /4.0
15461 (FIERN @ 45| 45 90/ 16.0, 74.0




BHE#H LF14—R
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B B mF s 39/ 37 76 3.0 73.0
i ()l HF 40| 41 81 8.0/ /3.0
36T |HIE BT 44| 40 84| 10.0 74.0
AMsp |2l = 44, 44 88 14.0) 74.0
hii &F JL= 42 4 83/ 8.0/ 75.0
6L || XK 43| 35 78| 2.0 76.0
1L |7K3 ES 45| 42 87 11.0 76.0
81 |KtE <HVY so4 | 82 5.0 77.0
OBl | = VA A1) 42 83 6.0/ 77.0
1062 f&ll & 46| 48 904 17.0 77.0
1143 %5 HR-F 47! 49 96/ 19.0 77.0
1261 =8 =R F 48| 45 03/ 15.0/ 78.0
136 Bfe Bb&EH 45/ 40 85 6.0/ 79.0
1461 B7E £ 44| 40 84 4.0/ 80.0
156 &HFT M 47| 46 93] 7.0 86.0




